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SN aso
FH: QASAH(AEH)
Sl RIRZA Y BM=X N (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OxZdH3 XA 6,400,000& 6,400
02 2324l 3,000 900 2,100
OFLUXXEH |RXE= 3,000,000& = 14 3,000
301 gt d= 848 848 0
1224 = 848 848 0
OFQRX XHZ2H 17 &3 848,000& 848
405 XHoHE S HI 4,400 0 4,400
01 AL EZFH S 4,400 0 4,400
OMOlna HtED 22 3,500,000& 104 3,500
SELduws Ot #¢
900,000& = 1CH 900
sclegEas N 123,080 123,080 0
301 et A Z 123,080 123,080 0
05 8% -0 -tHESEHS 123,080 123,080 0
Ool&=¢ 118,080
-l 200,000 = 369 » 12& 86,400
-0 200,000& = 36YH =« 23| 14,400
R
20,000& = 36H * 23 123 17,280
Oostazgaa 50,000& = 100 * 13l 5,000
NESLHM AHIXA 9,580 9,580 0
301 et d = 9,580 9,580 0
04 HtSLHUHAH XA 9,580 9,580 0
ONEsSZHUE A8l X 9,580
-OFAl I 3,000% = 4H  1JHOH » 365¢ 4,380
-2 ¥t 100,000& = 1JHCH = 12& 1,200
-XH& S Al 4,000,000& = 1JHCH 4,000
SSAE |2 131,830 129,939 1,891
101 @124 dl 24,470 26,079 A 1,609
04 JIZHHZ2XNESE =+ 24,470 26,079 A 1,609
OAIJHXI ZHI SS Az AR 6,674
-= 66,800& * 1% = 90 6,012
-A3 fe3 6,012,000& = 11% 662
O&EAM 2 17,796
=0 66,8003 * 18 = 240 16,032
-ASIEE fE3 16,032,000& = 11% 1,764
201 et g 107,360 103,860 3,500
01 At 2t 4,140 4,140 0
O&DI =g 150,000 * 23] 300
O&F= adth=z 50,000& * 123 600




SN s
HzH: QIRAZAH(AAD)
Sl RIRZA Y BM=X N CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O&I|otd2e a2 120,000& * 128 1,440
OAgtordze] a2 150,000& = 128 1,800
02 3524l 103,220 99,720 3,500
O2222 2 HA 57,468
-8 € 2ER2 2,750,000& = 128 33,000
-M3 L FAX 23 180,000& = 12& 2,160
-y sete MIIea 360,000& = 12& 4,320
-NESHhss 22 1,200,000& * 128 14,400
-HlAZ =AY JIIR2S
100,000& = 20 A = 128 2,400
—ESEfRE 2 150,000& * 23] 300
-gtgt2te| X 823 50,000& * 13l 50
-HA A0S RAYS 82
19,8008 * 12& 238
-EHAL & FOXNXNME 2ELEHE2
300,000& = 23| 600
OFQUXXHE HOIZE S da
13,200 = 20H ~ 12€ 317
(@)%K=2:] 9,240
== = 11,000 * 8Al2F = 105¢ 9,240
OAlI& &Hl A2l 28,690
-AE2LXdl(1,612m") 5,000,000& 5,000
-HASZE 270,000 * 4200 A 11,340
M= ol F | 100,000& = 4CH 400
-HlAZ A& 500,000& = 20 A 1,000
-Hl&&d X2 200,000& = 20CH 4,000
-2 7| KX 2l 50,000& * 15CH 750
-AHSYSFNE SHEA g2
100,000& = 12& 1,200
-H AN ZEx=m 2 5,000,000& 5,000
(@PNE=FaR=1a:] 3,905
-AEol 2 2,605,000 = 1CH 2,605
-& I X+ 1,200,000& = 1CH 1,200
-XEHAEE2 50,000& * 10§ * 23] 100
ORUGHIAAE (AL, FOXXHE )
300,000 = 12& 3,600
AP NGAS2HEAH X2 800 800 0
201 et A | 800 800 0
01 At 22l ] 800 800 0
OXNGAMIIBEEAMZ S B =
20,000& » 10Y = 43| 800
SHARDAMIEFTA(MAEH) 223,000 515,415 N292,415
ARBAIEF=A 223,000 515,415 N292,415
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ol & 27 2AY 100,000 417,915 A 317,915
201 £B-2d| 10,000 0 10,000
01 At 22l 10,000 0 10,000

OEXOIE ZZAAE(D-DAS) 5
10,000, 000& 10,000
401 AIEHIZL 2 0] 90,000 417,915 A 327,915
01 A& Hl 75,000 402,000 A 327,000
OAREAIE XNE & =& 9|
5,000,000& 5,000
OE2d H=&d 10,000, 000& 10,000
Ok2 S N4 |RXNE=H 50,000, 000& 50,000
Ontoldt Sat2 & Dlsd Atz |
10,000, 000& 10,000
03 Al 20 HI 15,000 15,915 A915
ON&EH Xt 5,000,000& 5,000
O&E=2 % otaFEH #FHEX= 10,000,000 10,000

22 ZHAMZ 3,000 7,500 A 4,500
206 = Hl 3,000 6,000 A 3,000
01 =8l 3,000 6,000 A 3,000

OZZx4d M=l 3,000,000& 3,000
2L &0 ol &F 120,000 90,000 30,000
401 AIEHI L 2CHYI 120,000 90,000 30,000
01 A& Hl 120,000 90,000 30,000
Oblsd ¢z g L 23017 EXAY
30,000,000& 30,000
OZZHX = FHEH HAAS
30,000,000& 30,000
Oootel HXlw HHIALS 30,000,000& 30,000
Od&1el S7E Rd & IMRT]
30,000, 000& 30,000
HY2IZH (AHH) 125,954 117,019 8,935

Jl2dd(&44d) 125,954 117,019 8,935

Jl=dl 125,954 117,019 8,935
201 Let24d] 66,474 60,239 6,235
01 At 22/l 43,990 42,820 1,170

OgAL+(=8Hl) 14,460,000 14,460
Oger==gH| 6,500,000 6,500
O= &l 5,870,000& 5,870
OSA gtz 160,000& = 20H = 12& 3,840
O&=D Xz 50,000& = 1CH » 12& 600
OHZEH A2 FH| 12,720
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M. #HY ALl (&EH)
oel: J2dU(&448H) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-2 el e 8,800
- EY 440,000 * 201 + 45 x 23] 7,040
- 440,000& * 200 * 23] 1,760
-etITely 200,000 = 8CH * 23] 3,200
-FAX 120,000& * 204 = 33 720
02 33294l 22,484 17,419 5,065
O2222 ¢ JMAM(fEH23) 20,100,000& 20,100
O#HIEHH RN 2,384
-CIIs AR 2121 1,300,000& = 2404 1,560
-Tglf 4,000,000& = 10CH 800
-FAX 600,000& * 2CH 24
202 04| 48,600 45,900 2,700
02 MY 48,600 45,900 2,700
O& ¥ I 225,000& * 18Y =« 48,600
203 2P EF | 10,880 10,880 0
01 J|22HERFX 6,600 6,600 0
OHE 550,000& =* 6,600
02 RO gR=& 680 680 0
OXNJAAMNINEEA 40,000& =* 680
04 ENSIHERFA 3,600 3,600 0
ORAN2ELERFAH| 300,000& =* 3,600




